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1| 0500 E7| F=E E0{2} : HLH SIoFE R % XS ofee 1| 12,000 12,000
2| 0[5008 EV| #=E EOjeH: 5™ 5102 92 XIS oy 2 11 12,000 12,000
3| O|2Xt7} RI2kA EA{ 20| E| RICH! bz Hu7tA X2, 0212 R 18, 29X $2 st 2I0{ 20| 1{ 15,000 15,000
4| O|GCH XA Eado) . A Y 223 Xg g 18 Al S L0 11 12,000 12,000

5| O|8FTV, 7R w28 Z46f! M0 X| &, Z X O8 I =EHSRA 11 11,500 11,500

6| odzol &= QEs 21 &2 AEH X5, o|zlof I8 SopA 11 12,000 12,000

7| ol ATZ|3F S A AFF QAER A2A I8, Ol 82, M7I8H HABHs| 7|8 FLIO| A GA} 1] 13,000] 13,000

8| O|YBEHS &EHA OIAIOF R KIS, RAIE MAH 13, Yol §2 s=o0/20] | 1] 14000 14,000

9| o<zl Z0of & o7} 0] 2 Z X5, o)Xl 28 ENE 1| 12,000 12,000
10| O|A{AFES| XICHE R 1~2 M E - ™2# XHAE.OFA O X &, &8t 18 =s 2| 14,000{ 28,000
11| O|E 4: HiCt 5% 2X2 Xg, K& I 24 1] 12,000{ 12,000
12| 1|88, 82 otAae|7] o2 202 4olst X5, ot 8 CH& 1| 12,000 12,000
13| 1|Z80 o|E2 =9 &} olzteet X| g, gl 18 LA RS A 1| 14,000 14,000
14| 1|48 (B0U=) M gloj” 20| X|Z, =X|Y F4 o225 1| 12,000 12,000
15| 1|2Y0[7} SaiFe M3t =3} e | 1| 14,000| 14,000
16| 1|2&5|2{d ot H OfL|Oof HAE= K=, d40r 28 2| EMNHE 1| 12,000 12,000
17| 1| = BZ% 2| L Lt el "Me|ll X|Z, oA+ &4 =48 1| 13,000 13,000
18| 1|U4E X|7|= E5F 7tX| & Z5e X, A I8 MEZ 37| 1| 12,000 12,000
19| 1|Lp 2 ALH 220 Xz, 2483 28 AHAIE 1| 13,000 13,000
20| 1|LHZ} St= ZHO| f Lit? Ol X|Z, 2Xg & 2 EMHE 1| 11,000 11,000
21| 1|0HdHel #4™ B¥H Al OF7| Z= ME2=3tAH 1| 10,000 10,000
22| 1|0r#e| tiz} H| A Al OF7| Z== ME&2tA 1| 10,000 10,000
23| 1|0rgel AlZt 2te| Al OF7| Z= MEZE A 1| 10,000 10,000
24| 1|0rgel de| B= Al OF7| Z= MEZE A 1| 10,000 10,000
25| 1020 = 250| HRd| OF2 RS I|Q= AE X2, ZaZ 18 |[12{0|0p7| 1| 15,000 15,000
26| 1|0QIE A= 18 4780 X| & nE NGBS 1| 11,000| 11,000
27| 1|0QIE A& 19 Ol & X|& DYBLAMH|EL) 11 11,000 11,000
28| 1|0IIE AF 20 4| oId| FoPd X & DURYAHIED) 1| 11,000 11,000
29| 1|E2iE, B& MZIo|QiL? sato|gl A0|A X, 2[4t M. J2/E 18, 087 §2 UOtX| & 1] 13,000 13,000
30| 1|42 Hes et AFE 70| X2, Yo &4 tsHH0{210] | 1| 14,000{ 14,000
31| 1|ME2{&L #MEOoH MET} 3PS Hi 40 = Xz, AFL a8 =X 1| 13,000] 13,000
32| 1|Mof stLpEQI S Lt MM ZEHE XS, 24 O8 =X 1| 13,000] 13,000
33| 1|&=2 #HHN =4 Bte= TS5H7| 507HA] O|M |42 A&, T O8 iSEES 1| 13,000] 13,000
34| 1|7+H E7 a3t =218 Hol=a 1| 13,000 13,000
35| 1|ACtD 2SERH MU AR~ R, 32128 M2t A7, =XY $7 EES 1] 12,000] 12,000
36| 1/0{Zl0|E 2ot S 2| 3 X2 X, 82 J8, i g [HELHASA 1| 13,000] 13,000
37| 1(2 4 Soiste 22 ZHOE BELE 1571 WY SMI| OfALE X2, 1= &2 ZELIO|ZLEAL 1| 12,000 12,000
38| 1|olof Q= APES oSt 27|z Uyl ALY | R0 K|S, AA3| OE AAE 1| 13,000 13,000
39| 1242 H2|1 oo[E ANEia o= X2 A2 S 1| 12,000] 12,000
40| 1|2HE OFA M et H| Y HX| Aol ¥H 1 J2 ¥ w1 2 ZAe g2 |0|2fo}o] 1| 18,000 18,000
41| 1|=He et F7LU BE 4 e e, #2 |Be XS, LY O = Xl 1] 13,000] 13,000
42| 1|FHEF otgot ™ol X g, &g 28 Z2HM0Elo] 1| 8,500 8,500
43| 1|EHYEt oFZ0|o 7|2 A™ A AM3 Xz, ol 28 AHAIE 1| 13,000/ 13,000
44| 1|==, S0t AEHS2] 0|0F7| Y7f? ARzt X| &, 0[5t O 8 ChE 1| 11,000/ 11,000
45 1|HS0| A|&tE[&= R ojHt AEE X5, AMYAH F4 HEEgEa 1| 15,000/ 15,000
46| 2|08 o = H= Of2l0] S AtM ALUH 224 XS, & A0y, 285 g4 MW 2I0] | 1] 13,000] 13,000
47| 2|d8o = H= Of2l0] T AtH MU 224 X|g, =oAL 18, 282 g2 Mokl ofzio] | 1] 13,000 13,000
48| 2|™Mojgtgt J2|A 20t Mst1~10 ME - F10d |[HE= X5, 0|22 J8, dZd+= 4 |3XFUHY 10| 12,000| 120,000
49| 2|MS gl JdE|A 201 Azt 4 Z g3 X2, otels a8, e 74 |0[2MOoto[ME | 1] 12,000] 12,000
50| 2|MS = delA 20p A3t 5 Z 43| X2, os 08, dF 74 [0[2fdloto|M= | 1] 12,000{ 12,000
51| 2|M& 4= Jd2lA 201 43t 6 43| X2, s 8, dF 74 [0jefdloto|M& | 1] 13,500 13,500
52| 3|EBS 1zt HQ EBS <Itet WQ> MAE K|S, QMY 24, £BS 0|C]of 7|2 =4 11 9,800 9,800
53| 3ljob? Lt= AOIERAAH O MEJ7LE 7op  |&£X|x% XS, siX= J8, d&=s = |[320t0] 1| 12,800 12,800
54| 3|AIYNLR= ofl? O|2E X= Ed 1| 13,000 13,000
55| 3|uwitM HEIAHE OlEHY XI5, o|dF O & £2 1| 12,000 12,000
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56| 3|=4 = X sigd 28 Hol=a 1| 18,000 18,000
57| 3|32HA, 2|7} HOF? NAE #2 x|g, EAAot Yl 1, e g2 |H(QAXE) 1| 14,800 14,800
58| 3|7I2| 7|Xte| 7tF2o| L ME® X &, 57|18t 28 JHALER 1| 12,000 12,000
59| 3|Het LtE X|7|&= B, 59 25 X|Z, Ol A8 JHRALES 11 13,500 13,500
60| 3|CHHZ2 ™ O|glIEor? oo 2 ® X|&, 2 28, oM &4 |2t 1| 13,800 13,800
61| 3|CIETHAM Z2 22| ofobea) Lt X8, AR E21AL 18, 22 $2 =4 1| 14,000 14,000
62| 3|= =20 =74l HI g XS =t 1] 12,000] 12,000
63| 3|=20| ZCIH o2 =) AE|2 O[E RIg, 2H2E 22 18, 20N $2 otEr5 11 13,500 13,500
64| 3[HL| BtA 1: =0] FHoe #l S|H{E |2, HolEE|A FIAER O, 05 §2 DAL =S MT 1( 12,000 12,000
65| 3|HL| BfA 2 =2 O{HA Ete? W oM C X g, HOIER A FIAER 1T, 054 B2 DTN 11 12,000 12,000
66| 3|0L 22 3: =2 OfEA NFENtQ? W SiHC K|, HOlER|A FIAER 1T, )54 2 DEfTtSAEE M 11 12,000 12,000
67| 3 DH-II—: X:'—.*i f : %1%}1 & A &2 ¥l SjH{E |2, HlofER|A FAER 18, 05 S Inkp e 1( 12,000 12,000
68| 3|FEIME7t= of? ASOF X2 EJdN

NEEEEEEEEN S0 ¢S IE; 1 132%% 123?,?,
70| 3|t Y2 &0 LtEf2| 2tHtE X| &, 320 4 O] M| 7| 1| 15,000 15,000
71| 3|MEE X|7|= AtREC| B2 ekl E o= n B 1| 13,000 13,000
72| 3|MdE, "X|7F Hoje? Hi 8= F=@ XS, O|Zf & 18 HtE 3| 1| 13,000 13,000
73| 3 Ajlé,*% ;H‘;E StLto| 24| el AR X, Yol HYaRA 2, U2 82 AbLta 11 18,500| 18,500
74 3[NZE ofm? oxg xS Edn 1] 13,000 13,000
75| 3|AEet ot B, FHE &2 OP7IEF E A8, 27tof0t CtEAl 18, 23S §2 7|CtHE| 1| 13,000 13,000
76| 3[A2ZX7F ZCHH O|H A Q! AE|E O X8, & 22 O3, ZH0 32 |stErS 1| 13,500 13,500
77| 3|otol glE Lto] B 2828 QH 2|0 C|xo|Y |2+ XS, O|F A J8 =350| 1 9,500 9,500
78| 3|etE? @& & SE0 X Mol== 1| 18,000 18,000
79| 3[0Eo] = AL MX[# A&, ZoAE 28 StEsS 1| 13,000 13,000
80| 3|€5F H 4HS ui opREA X2, A& I8 OfetxEA 1| 13,900 13,900
81| 3|¥a&Y MFo| 2Lt O|&H Xl= ot El = ThAL 1| 15,000 15,000
82| 3|1L=2 B e d el Xg, ¢4ty I8 =4 1| 13,000 13,000
83| 3|2 THA[ZtO|CH EA[S2F HX}H X X2, g8 O gr=20| 2y 1| 12,000 12,000
84| 3|82|=z2| AH| eH™E n|sfzh JlE =2 X|g, ol=2| B2 13, o|"F 22, A 2+ |O| M| 7| 11 13,000 13,000
85| 3|8E we 2R el B 1| 13800 13800
86| 3 ﬁ—;ﬁit %Er;&j jl =SR] AE|= OHEl X8, & 22| 23, 0|24 82 otET5 1| 13,500 13,500
87| 3|¥EATZH= ol? =2t XS Edn 1] 13,000] 13,000
88| 3|at A, O{C|7FX| OfL|? MM X, oA a8 InE P eI YE 1| 12,000 12,000
89| 3|E2l2| ZA OrAH Z 2 YR XZ, =y O Oj2fAloLO|M-2 | 1| 13,500 13,500
90| 3 iléil%g iH DI;L%% SEHEO| BHE XS SLIEEA 1] 9,800 9,800
91| 3|=& BAl =¥ Xl X2 SHE 1| 12,000 12,000
92| 3|==oHdE et HE A 150 Had Xg, £ a8 HO| 1| 13,000 13,000
93| 3|7HHE 24l Bt SAEIL MXIUZ XIS, ojxpdet £1 1d, Adis g7 |12 11 14,000] 14,000
94| 3|EdstD SO|IE2 MAC A =X| N3 Date K|S, W7 a4 13, 10| 82, ASA A4 AbIE| 1| 13,500| 13,500
95| 3|Z 2oz = ofl? RESVINED Eda 1| 13,000/ 13,000
96| 3|&twoj 7t™ 251 E282U g, 0l23 40 18, 03 $2 FLO L GA 1| 13,000] 13,000
97| 4|Go! Go! 3t ErSILY 22iY F24 X1, Zuat HEtH= 1Y, 13 2, Hex g+ 120 1 13,000| 13,000
98| 4|STEAM X=& 1t A3 o AEA 2 d = X2, Bz 28 Hjo| & 1| 14,800 14,800
99| 4|Why? O/M|EHX| 84 X2, 0|Fs 8, M3 &d== |08 1| 12,800 12,800
100| 4{Why? X|72| TH Mz X2, 2 08, g4 2 [0EE 1| 12,800 12,800
101] 48R 52 & #= o|ojo|=0O| CiCtot7| X| &, Aol F4 | dZ4olH 1| 13,000/ 13,000
102 4|0FQAM S oj23 X2 X8, B2 gaiel 11, 053 82 2 1| 15,000 15,000
103| 4|Dftsto| 2HH 1 . ZHEHSL7| NHK 2Fetol 2 FIZHE X8, RAIER AA7 18, BBy Lt 1{ 15,000] 15,000
104| 4|2fsto] ZHE 2 - 0f AMSLY| NHK Dfstol B M K|, Qe A 1 sy | oL} 1| 15,000{ 15,000
105| 4|0fsto| 2HA 3 . AFEL7| NHK TFeho] B HIZHE K|8, RAIERH A7 18, HeH SFLt 1{ 15,000] 15,000
106| 4|apBto] =& #ro|ch AFO|CH 1 j%’l‘ HMopshat HAYE X, 28T O ArArorZHE ] 1 14000 14000
107| alapsto] £ ro|ch Apo|CH 2 j‘ﬂﬂrﬁﬂrq% H2ZE Xg, ™3 1 R | 12000 12000
108| 4[1tsto| £E5 AO|CH ALO|C} 3 S eI E A eio g X[, st O3 | AHAopFth| O] 1| 14,000 14,000
100 4|7fst0| S5 #o|Th AfO|t 4 SRS AR NS, A Ty gopsten) | 1] 14000| 14000
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10| 4|72, W7} HtZ PZF0f Rt 2AAS, 4271 18 730 E |z gz 1| 13,800 13,800
[}
11| 4[3Y0|E Hi2|H 2= g A YA R, 2123 W 0, WY $Y, 01¥2 24 | B2 S 1| 18,000 18,000
12| 4|08e 2 H= Fs} gt 27tA 202t XIS, YW AREL 1, 0/8S 8, BNET A= 1( 17,800| 17,800
13| A[7|gstn DjMstn 271 243t AH: 28 LU EX| ey 7|= X|g, AT 24 [HEL 11 13,000 13,000
114 4[7|gstn DMstD 271 248t AH: B2 M EXdejm 7|= X|g, M7 g2 [HELX 11 13,000 13,000
115 4[7|gstn DjAstD 271 2p3t APH1: @7] AAl IR e 7|= X8, M3F 82 [HEA 11 13,000 13,000
116 4[7|gstn DjMstn 271 apst AP 22| 2 W EXaejm 7|= X|g, M7 2 [HEA 11 13,000 13,000
17] 4| 44dt B0 HEfH A AT YN X2, 24= 18 ZOfAJOFArO|AA | 1| 12,000 12,000
18| 4|ZMNE A= At HAIZ A823-22tE XS, 010 1, 0/ S alxs) 1| 14,800| 14,800
19| 4|7 HlLn}? AFLO| CHFHAl K|S, BeAl 27, B g5 (YZEHBRA 1] 13,800 13,800
120 4|==0| BE L d= =4 AXZ| | RS, X0} o]~ 17, BT 8 HEHEIAOZI0l | 1] 13,000{ 13,000
121| 4|5Ha2|0tst ME(50H) HEE SHLETA 1| 400,000 400,000
122 4|0t2|2 Z2|Lt sl alA| X2, B2l A Dl2ElH|2 18, 0|52 $2 Zgofo|E 1| 11,000 11,000
123| 4|00 £53HX| = 1& : A=t Z 2IXE X2, o8 &4 AES 1] 13,500 13,500
124| 4|20 Q¥ HoH X2, 7 &4 EFAFELIY 1| 14,000 14,000
125 4|0|2 29| of 2ol2t ME[TE X g TN AFC|S 18, 4oiT §2 OfEEC|EfY¥= | 1] 19,500] 19,500
126 4|Etsl=2 EH Holzi Zajolgf X8, 26|ot| &= 1, jolct 52 E]uk-15m] 1| 15,500| 15,500
127| 4|8 28 7&L o Ef N X2, ZOtE =& A2t ol & 1| 18,000 18,000
128| 4|99Y W ot 251AH =2 FEIAE 2F By |0H0|3 22| X|&, O|X|§ &4 ASZF L0 1| 18,000{ 18,000
129| 4[HEA HE&= SF GAL Zajol= J|HE XIg, & B2 18, 0/3g §2 StE5 1| 13,000 13,000
130| 4|t ALREA 10-13 AZLIOIE X|Z, A% 4 Oj2fAIOLO|M-2 | 4| 12,000 48,000
131| 4|88 npsh 22+ A5 OlE D|MZ 07, MO $2, Opmbiat ALEA| 24 CHAHO{ 210] 1| 12,000 12,000
132| 4|88 aisk = Z2F: N2 OlE DMz 07, O $2, @I 5t2of o A4 CHAHO{ 210] 1| 12,000 12,000
133| 4|8BEs qpsh £ 7H . AlZ MILE OlE 0ME 17, WY B, MOP| TS o A% CHAFOJ2I0] 1] 12,000] 12,000
134| 4|88 st 22 2F OlF 0|2 13, HOIY S, SEtLtH] Fo|x| 9 L4 CtAHO{ 210] 1( 12,000 12,000
135 4w ofsh =2 g Ol 0j#2 18, BOIY §, A7tutopAl SOl 24 CHAROj 210 11 12,000] 12,000
136| 4|etd2 O{EA 5tLtR? OFQIFFERQl 483t dsT X g, 8Fl2 08 | 1] 13,000| 13,000
137 4|87 = 715 0|0f7| M3 XS ZI40to| 1] 10,500{ 10,500
138| 4(M22 EE BE 58 =& 2te|3 22| X8, ol2X| D2HEAA 17, B4 S otelzto|= 1| 22,000 22,000
139] 4|lAH S At2tst Sof 47 208 UAE EZ AE & [BOEFHY 11 9,800 9,800
140| 4|2AF%H X| 79| HIC} MW mate XQ, W7l £2 1Y, 1®0| £, UM A% At 1( 13,500| 13,500
141] 4|t 210/ 1-6 Oletg X2, doig 18 x[=¢ @5 |[H|Oto| & 6| 12,000| 72,000
142] 4({AlH|DH AlE AE Or=z|? HI2 X| 2, 0[5t &4 Ha 1| 24,000 24,000
143] 4(2tE0| & HM S FHO X[Z, ehX|of O3 APKHY 712 [CHEDHE 1| 13,000 13,000
144| 4|25 MHZR HHES Foteh Ofo|= HimE Xg, 2A Hue| 17 A4E 82, oFe 2+ | A EIA 1| 17,000 17,000
145| 4[0{ 20| MHMXLE ot Xl Mz et e Xg, ey 24 a8, A2 g4 |[AEHE 1| 13,500 13,500
146| 4|01RSH 0 70rH2|TV 3 MNEA X MX| 18, o|Ys 2= Ol2& 1| 14,000 14,000
147 4|0 8FA} 5-6 olatA RIS, £33 17, #a0| 2, BEls Za g2 MoLo|M& | 2| 13,500| 27,000
148) 4[4l Or2] SOy HME B2 RIg, MU HARE 8, Yold $2 =g 1| 20,000 20,000
149] 4[d? 5t S @ uisto] HalR - =2 80| Mot X2, 8¢ O Ciar ¥ 1| 12,000] 12,000
150| 4[f? 8t SO W 1sto] B ; X[ st |ASE X2, ZA0 18 Ciar ¥ 1| 12,000] 12,000
151] 4[%f? st S utsto| Hel R . atst HE=Z.0[xot XS, ZCto a8 Cier 1| 12,000 12,000
152] 4(R2|=2] E0EE 7|A ol =2 Jg| A2 08l X, wFe AEe 28, #4882 FJuEg 1| 14,000/ 14,000
153| 4|%2l= 2F oCI& /=277 Hol& 2 X2, BE= &4 =288 1| 15,000 15,000
154 4|2|CHot S S AT ol 42 OpEHE| X1, 02 7| 12, Ao} §2 2t 1] 12,800 12,800
] i o o L
155 4|72lE &2 Yl iloljé OIL=E227I KIS 228 F |ga 1| 22,000 22,000
[}
156 4|0|77F AOM BH Hote OfUAL SYUE K|, OfHlH} 2= 18, BE0 9 §2 EEETES 1| 14,000/ 14,000
157| 4|0 ™ M7} E|l&= Q5™ - X5 A |Team. StoryG XS SEAHO = 1| 14,000 14,000
1] 4|RHAIEHEE =St 5, e[t FHE 1~2 FEEZ0jg X|Z, o|rlor a8 32| 2| 13,000{ 26,000
159] 4[X| & ¢ 1t &£ 22 A 7H AR XS oA 0|5 1| 15,000 15,000
160| 4|=& 15tH0| & 2OtoF g st A0lE| HolL|A X8, AB[TH: EIH|E 13, Aol% §2 oA EAE| 0} 1| 12,000 12,000
161] 4|5 WatA Ipst Al . 0pst A1 T 2o st gRls| g X2 AratotZth|oj 1| 14,000] 14,000
162| 4|XS WutA apst A9 - sk F=A} SIS O|FF IS XS |AHAOFZHE O 1| 14,000 14,000
163 4|9 oI XHZ F2| 2|82 X2, &AM F4, ZET A |2l0jixyg| 1| 15,800 15,800
164) 4|TELEX|, =5 vl sl vl Zo| &2 E=stet 0|8 XIS, #X 8, Algs| &= = 1| 12,000 12,000
165| 4[5h=0= H0OtLt B2 9ol ASNK? Ol D2l Z K|, Hbizt BiEME 18, 0/2E §2 7|Ct2| 1| 15,000 15,000
166] 5[10= 2HOf 2t41 ZRZHEF 217] 22 O|M3| X|Z =309| 11 9,500 9,500
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167| 5|17t 2Et7+HH o2 A Eit? go I ASOICT RSOl AT, AL e S8 S ol = 1| 15,000 15,000
168| 5|02 L X|F 2|7} & X|FHL 2H0lAF ARO0E AT X|, 2/C]0F W 12, AW 82 =0|g 1] 13,000 13,000
169| 5|11Y0|E o= =7t0| X|& | 11 15,000 15,000
170| 5§ _g_él'&! %%)I', XI_—I_L7|_ ol_rLl_Rl I;ﬁlg‘le AAE 22 YAE XS, 22|H 2E 18, 0|5 XI:I'“:ENO'I E|_|O| 1 131000 13’000
171] 5|71'g Ot&l, O HO| A|ZE[QEL|CH HZ X5, @8+ &4 oge 1| 14,000 14,000
172 5|4 2 Z2tAEO|OF izl HHE X5, O|A+= &4 =4 11 11,000 11,000
173| 5|4 AL = OBl 20l X2, #¥ &4 of 2 1| 12,000] 12,000
174| 5|=2t2 7|A4lIS Mol M XS, etEYA 2R 1", A 82 SEAEL 1] 20,000 20,000
175| 5|F71 HHMX|? oH ofm2| Al A XIS, B7| E2A 13, 20y 82 A Zto| E 11 16,000 16,000
176| 5|77t & & F K M= X|g, 28 O 8 =2 1| 14,000 14,000
177| 5|5 K| O|Ast S| 25t MEHA 1 ofE 0| XIS, #2 T 13, wotz g2, 420l Aa 5FL 0 1| 13,800| 13,800
178| 5|EE K| O| &5t Sl E5t MM 2 ofE o] XIS, #2 T 13, wotz g2, 420l Aa 5FL 0 1| 13,800| 13,800
179 5|EA= O{EA SHE72 OlAY 9 X|g, B2l ScAolE 07, Ao g2 | AE|E 1| 13,000 13,000
180| 5|OFX|2F M O|X|H X|Z | 1| 13,000 13,000
181| 5|2 59| Afotaty A L2g Xg 85t 28 OpEAEA 1| 12,900 12,900
182 5|0 XA~ S ENH 0|43 X5, YWt 28 ot O A 1| 15,000 15,000
183| 5|0J2§7t 2Ct, Of & ALO| A At A2l X &, MEE| 8 QFO|=DFBOOKs | 1| 13,000 13,000
184| 5(0J2f7} 2Cf, ADLE A|E| At A2 X g, deF a8 QFO|=DFBOOKs | 1| 13,000 13,000
185 5luteis 2ol =2 217t &7| ¢ 507+X| O|M o|dot X|&, T 1 RIEEES 1] 13,000] 13,000
186) 5|2l HAt Bl 2 X[ ECHH= 18 88 4 |00|¥= 1| 14,500 14,500
187| 5|H8AIO| AA} = Het2 X g, 85t &4 SF2foto|= 1| 13,800 13,800
188| 5|2E2E3 42 @F Z23F X &, 0|3|2 18, O|dE Z= [10O0|4d 1| 13,000 13,000
189 S5|AFEN A3, 249y &% OH XIERM K|S, APXHQF 7] = CHEOH & 1| 13,000 13,000
190| S5[AMO[QIA FEA . 1 QFO QHC| Al X| 2, Z|MEl Z& ZHO 0| 1| 12,000 12,000
191 5|MA SA o s X, olE EEE 1] 15,000{ 15,000
192 S|MIAIC] AR, S22 WHO| P58 R (Sh ag o IRdasste A8 SR AR 5 g 1| 15,000 15,000
193] 5|52 710 HotR! olY|A FtAR-HBA K|S, § OPICH 8, AFY L 112 0|0F7| 11 15,000 15,000
194| 5|AZO| HHFLE AFAFD| R XS ZIHE 1| 15,000 15,000
195| 5|E7|E2 AldE SE3| XS, ¥l I8 CH& 1| 12,000] 12,000
196| 5|28 7| HAIO| LIEFRECH X X2 O] M| 7| 1| 14,000 14,000
197 5ot 31 W2 Y Ho|= 2ol X|g, 03He $7, HER A% OIZ2= 1] 33,000{ 33,000
198| 5|OIEC2 252 ojSal mejol X8, x4 18, AEH 2 HHstu 1| 19,500 19,500
199| 5|01 & X|F&= 2|7 & Hop £ 7Hl X, ofgalLt 2l2loj2 18, Metsl §2 HAE== 1| 13,000 13,000
200 5|O{ZI0] O ATl 70| E Adz|= 2o X, 2H2 18, 520 g2 [FHE 1| 12,000 12,000
201| S5[O{E2I0|E ot A 2H =2 =0jY 2IAsME WIE XIS, Arjalet 82 25 ARHL 1( 13,000 13,000
202| 5|22 & A% A 1 AT NS e STS A8 AR EL TS pjaoliofol M-S | 1| 12,000{ 12,000
203| 5|22| & O/M E2tAE FolE EjOj2t XI5, 443 8 =H A 1| 11,500/ 11,500
204| 5|22|7} 2 E £ 0|0}7| S2lAE W ME X o2l 23~ 17, AR §Y AEE 1| 12,000 12,000
205 5|R2|= OtEloZ iHlg HojQ! Ojo|2 SME XS, WY x2Che 17, SO|L 82 Hstn 11 19,500 19,500
206| G[ofAt Of#iK{A 5. Mt MHS 7|9k 131Y X2, =59 18, YU A5 JhLEES EHAL 1] 12,500] 12,500
207| 5|ofAt OfHi{A 6: B2 7| ZIRt 0| E Aropah 1Y Xg, =5 18, 58U U LS EAL 1| 13,500 13,500
208| 5[O|F HFOf sffi 7|2 B} SN AAFE X Z, dd a8 ERENS 1| 15,000 15,000
209| 5[0|EE SH3E 17| SEAEm c2M RIS, w2t 2023 1, 452 %2 |13 0| EBOOKS 1| 14,000/ 14,000
210| 5|0|EE ZHo Ho[2HA Z8E X3, 2gA 08 212|0] EBOOKS 1| 14,000 14,000
211 5|MX| A= ol &9 K&, 2oPd J8, 0]9|g &=+ |CtHEl 1| 12,000/ 12,000
212| 5|8MEQl oIzt Bt H11M 8 HMS 712, rjeolne 2 ysg 18 (025 1| 14,000/ 14,000
213| 5|X|F+E gt 2E 0[07] A2 bhAEE Yz K|, ool SixHE 1 HHsw 1| 13,500| 13,500
214 S5|X|FO|N 71E 2 YAt E ANoA X2, E Aloja O8] Btge| 2 |HELD 1| 18,000 18,000
215| 5|XHES T 40| E X5, ¥4l O 8 CHE 1| 12,000 12,000
216 5|t SEO| HoR? a9 Xg, Wz O, =38 & |[EY 1| 13,000] 13,000
217| 5[H2tZY . & B X| 7 BHE7| HES XZ, 95 O8, ojFe A |28 Elo| 1| 24,0001 24,000
218 5|mEtsts 7R3 Mz Xg SOFA|O} 1| 16,000{ 16,000
219| 5[4 He= MALl S4 HA 2EE X3, MR35 &4 L Q148 o x 1| 18,000/ 18,000
220 6|ZOHX| ZO|F 7| A== oHO|Clof X|Z getsa 1| 17,800 17,800
221| 6|E 0| M 50| & RA0{OF Ef? ecaxol =23 x/g, 02X Zaie 18, ANY 82 2! 1| 14,800| 14,800
222| 6|& OfFO{L|Q} H[E o[ Bf AXM XF, ol I8 AlZX 1| 16,000 16,000
223| 6|mTE &7t He2lo SOt = Al A X2 = 0IA 1| 12,000 12,000
224| 6|LtTHO| O FHEIE O2[7] OrR0] M ZA7| XS, H43|H &4 |HO{Eoto 11 11,000 11,000
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225| 6|UIZOFKMM el Ho|m S0/ 4: ZHE|O HZOtX M O] & X|= =28l 11 11,500 11,500
226| 6|94 oFOFC| O] A} otA0 X[, Olsf| &, cd5F & [MIHoHHE 1] 12,000{ 12,000
227 6|2 59| O|= AL Ojo| 2 HE X|S, HO|E oA 12, B 2 o|Otz 1{ 50,000/ 50,000
228| 6|0|L|7} ZO|& 7| 22| i 0|0}7| X|Z RS 11 11,500 11,500
229| 6|0j=2 =0|H O|¥= X|Z TEMT 1| 14,000 14,000
230| 6|HHREIR S FO0|T 7| CH7ISHA| LLE K&, E0]2 &2 UHAZ 11 11,000 11,000
231| 6|zxzuzze yzwz HojYs SoHyl: 22l & Fo/7| ALY ESIUNE=] 420|Cjo{28= | 1| 15,000 15,000
232| 6|==30|H7| Or20I Et2 L 2| X|& SO|Lt2t 11 12,000 12,000
233| G6|AIAIE & JO|F7| LA o= Sefd XS & K| & 11 12,000 12,000
234| 6|MMH, &gt =F0[7t Hoa? ez X, 28 38 Hotg 3| 1] 12,000] 12,000
235| 6|Me|7| &= O/=0| & 5= UK 4% BX| XIS, dsel 2HA 1, HotY §2 FEZFLIO 1| 13,800 13,800
236| 6|EF B A2 JO|F7| O|A[HFA| L2 3 X| &, FHO|2 ¢4 ZdHASE 11 11,800 11,800
237| 6|= &, O{C|7}X| OfL|? 478 X5, o= O8 DETtSA S E A 11 12,000 12,000
238| 6|HHA HIE 3l 2= O{ZI0] A ote XS ofee @l 1| 12,000 12,000
239| 6|ZEXE FO|F7| AEEOF HER Xa, E3|W g+ |A2ENF 1| 12,800 12,800
240| 6|SHA BO|T 7| MEAM 2 X SO|Lt2t 1| 12,800 12,800
241| 6|FUA FO|™7| 2 MEAM.0le1E XS SO|Lt2t 1| 15,000 15,000
242| 6|7fEIH CIXtOl & EZ2Q 2ty ENESNENFIW S]] AKPRLIA O M= 1| 24,000 24,000
243| 7(365< St HHO| ST 2K = 0|21 THO| |viaic2 zof xig, 2Ust man1 12, 228 82 SR EICES-[ L) 1| 15,800 15,800
244 7[7HE #|2 Of2lo] =0 4 Aols XS STFEA 11 17,500 17,500
245| 7| 22 X|7|= HLt 5 N2 mate x|, gal 2 13, AYF A4 Atnt2| 1 13,500 13,500
246| 7|4dlLtE Of2I0] Y20 1 CiLEZE R AO] 9| X|& Cherel 1| 16,000 16,000
247| 7[AlLtE OO Y¥E0{ 2 CILEZE RA[O] 9| X|& CiE2l 1| 16,000 16,000
248| 7|4&0| 249| HO| Y& EFG7| ot X, A8 O, 4dM8g 4 250 1| 9,500 9,500
249| 7|YBEZ =M 7| o dhof ELY7 U4 ZHIA M2 H XS AEzasEuszsaz [ 1] 9,000 9,000
250| 7|LHEE GHEE oF 8o EL 7 AL X2, 4L a8 dExasmsszgzz | 1] 12,0001 12,000
251 7|80 47| MX§Zt ZCH 1 Mr. Sun O3St A X|& 2CAHO= 1| 12,000 12,000
252 7|80 7| MXf7t =CH 2 Mr. Sun O3St A X|& 2CAHO= 1| 13,000 13,000
253 7[0|BE|2 A O] a7 XS 28 18 =LIE 1] 12,000{ 12,000
254| 7|0|RE|Z MY & =T A& 2§ 128 =L 1| 12,000 12,000
255 7| TN HIE MH= O{El0] AFRH O ote X2 ofetyg 1| 12,000] 12,000
256 7|4 BN HE MH= ofElo] FEHY ote X2 ofetyg 1| 12,000] 12,000
257| 7|F7|H ZE MHO| AO{EAL 1~3 HEW X2, B=E J8 o|M3] #d+ |[MSESHA 3| 11,700| 35,100
258| 7|2t =% Fle 222 4 ses X2, QBN 13, ZUALL| 244, Sed0) 4%t CrAtOf 20| 1| 13,000 13,000
259| 7|Soteif 2% Fl= R B2 X8, R3Y 12, EAATL U, A A% CFAHO 10| 1| 13,000 13,000
260| 8[1002F H At 11QFO| At 23 = J8, 2d"dF &2 H A 1| 12,000 12,000
261| 8[143%5 LIF % QHC| Jd2|mjA X|F, Hl2| HE 8 ASZFEL O 1| 12,000 12,000
262| 8[1951, EA| & S0f A8E X, 414 28 HAEH| 1| 12,000 12,000
263| 8[2019 LE°| £E2 S| ZIO| A WEX AS FEEA 1| 13,000 13,000
264| 8(2022 T HIEA SefAl MAYE =55 [HEE HE 2 1(511,860| 511,860
265| 8|29ME|D|H Ol 4™ X2, MmEgh J&E SUFLHY 1] 10,000] 10,000
266| 8|43t 58t EHWO|S H2X] X, ojg< O8 Hol=s 1] 11,000] 11,000
267| gleotd =M 2 1 OpAHA e X, X2 4 JZIE 1| 12,000] 12,000
268| glestd =M 2 2 OpAHA e X, X2 4 JZIE 1| 12,000] 12,000
269| glestd =M 2 3 OpAHA e X, X2 4 JZIE 1| 12,800 12,800
270 8|Al AICHO| = AOtE= 0|2 =Y O|OF7| XL XS, MeEF 08 =L 1| 13,000 13,000
271| 8|GREEN : & 0|0}7| AHE F|A X2, OJMT &4 2t 11 12,800 12,800
272| 8|7tBHEX| g2 7O} =228z X g, X I8 HY2o =M 1| 12,000 12,000
273| 8|ZtL L] Otgo] =M 7 H2L21 Otgo| M |X|]2| X|-S, 0|43 O& O 25 1| 13,000 13,000
274 8| E H=LICE 7|E| 32t2H X g, 0|F3 &4 =3 1| 16,000] 16,000
275 8|7Het 7Hel 120 L FE XS, 40|E &4 O] C|O{ & H| 1| 13,000/ 13,000
276| 8|AHT=E TCHF FOE K&, MBIy 28 AXFOEIO| 1| 12,000/ 12,000
277| 8|AHA AR Z 2t 8329 X, o2 18 LA F Lo 1| 13,000/ 13,000
278| g|HHfo|o] =4 =TT 4 HEd XS, O/ e} O H| & 1| 11,000] 11,000
279 8lH2 M OjXx 218 28 oziof 1| 11,000] 11,000
280 8|AHAS 21 FAR|O) X/, o2 2 D 18, 0¥ $ ZE=FLO 1 9,500 9,500
281| 8|A=A0 7 =2|¢t MAIZEHE X2, Aed &4 sl 1] 15,000 15,000
282| 8| Y0| A M 2= X2, M I8 = 0IA 1| 12,000 12,000
283| 8|1 QF0| Ot Mg X, oty O8 CHH| 210] 11 11,000 11,000




=Eq MH 5 X{ X} E AL A "7t =4

284| 8| YO| SHAA A 2 S™ X &, dx4s 28 | 11 11,000 11,000
285 8| YO| S{AA A 3 20™ X&, 413 28 L] 11 11,000 11,000
286| 8| YO SfAA AT 4 S X &, 43z 28 | 2| 11,000{ 22,000
287| 8|1 YO|t ¥ d2|1 59 LIEE 72X X|&, 40| &4 HES 1| 13,000 13,000
288| 8|E Lt II= OholB| ZH2tAl Klg, o2ty ZHA o Sitel 1, A% 82 | B =M 1| 13,500 13,500
289| 8|17™S M=X| ME - M10d 18E A= OEEA 1{ 143,000 143,000
290 8|ZES X2t 4 E& 18 0] 2/0| O} 1] 12,000] 12,000
201| g|uAS L7t MM E Hotz| X[ = Ei 11 12,000 12,000
292| 8|TEHCEfY OAl 24 X, Ze|Lh 224 12, 244 82 |I=HoIRA 1| 14,500 14,500
203| 8|7O|= AlE (HAETh 2o XS EgotA T 11 12,500 12,500
294| 8|70|= MY 2 KA QLC|M (BAET) (2= XS E ST 11 12,500 12,500
295| g|+0O|= AG 3. oL MEH(HAEHEY s XS E ST 11 12,500 12,500
296| 8|=HFO| H Xt AE|F A8zt X[, 40/ O8 Z 2M0 20| 1| 10,000 10,000
297| 8| HIl H 2 Rl 4 XS L 1| 12,000 12,000
298| 8|HAE Biot &5 2t JHA| oMYA X5, 8™ 18 38852 A 1| 12,000 12,000
299| g|defk= & s = AHOp Zl SlofE X[, ¥ojE Hol=a 1| 13,000 13,000
300 8|1BIAF MIEFA AL X5, o I8 MOpFLEE 1| 12,000 12,000
301| 8|=M7| 57| o|lY X|Z AHE 11 13,000 13,000
302| 8|FMI| HEHZ 7|FE EAHS M UE7| |ES5Y XS A227|X 11 13,000 13,000
303| 8|=2M7| &S}t 0|24 X|Z Y5 1| 13,000 13,000
304| 8|=a#=0|7} 7|CFEILICH 282 XS 26| 8 =& | 1| 10,000 10,000
305| 8|7| 23t 23 SHokHl 1. 4 |2 Al0H 0|2 X2, Chizt ofo] 17, Ak &2 Oj2f2lloto| M2 | 4| 12,0000 48,000
306| 8|7|H3t FAE ol 9 XS, 4&=0f 8 otEr5 1| 13,000 13,000
307| 8|7|= ZHA 7| LIMTF| X2, s &4 =L O] 24 HAL 1| 13,000 13,000
308| 8|Z Qe Mzt oA 2Pt Mzt & 32 7= [HElE XS, 407 O Ik Pk 1| 13,000 13,000
309| B|ZAB’HO0| HE OFXM g4rols) = 8 MEZ 37| 1| 13,000 13,000
310| 8| HEMEEZ EXL? tOER X, 0|Fs &4 ot2 2 0] 2l 0| 1| 13,000 13,000
311| 8|EE9| A7t g0l X2 SFE=THA 1| 30,000 30,000
312| 8|FFL| 1Y0| H|F+ 22 X ZIGHE 1| 18,000 18,000
313| 8|&Ofl A L} 222 X|g, &t I8 AHAIE 1| 9,000 9,000
314| g|l@= ¥e= BHEE RIFE X5, X2 I8 Z2HM0 o] 1| 11,000/ 11,000
315| 8|LtLt (ZEh 0|3 XI& K| 1] 13,000] 13,000
316| 8|Lt= ZEXNE L ZE AR X, ASL A0jA 12, AX|S 82 Molesm 11 13,000/ 13,000
317| 8|LtE L= L= A2t X| S SFE AL 1| 17,000 17,000
318| 8|Lte= F7217tR? EL ¥ X5, ¢+ F SELE 1| 14,000 14,000
319 8|Lt& =0 # ot EIEAEE X| g, O|]E &4 ChaE 1| 14,000 14,000
320| 8|Lt HO|Of JHA| 3 OFMA| 7HH|R OFAR X|2, O|AE 22 |SEYAE 1| 15,000 15,000
321| 8|Lt= st 7H7| M24| Ast2 Xg, d=¥ 18 2| EMHE 1| 12,000 12,000
322| 8|LIE &} Z| BIX] X[ S | 1| 13,000 13,000
323| 8|Lto| =4l H2|A o] &d X& A2 S 1| 13,000] 13,000
324| 8|Lto| &= 7|E| A2t*GH X|Z, LiM3 &4 B E 1| 13,000] 13,000
325 8|t == MI|71 FY ALp 2384 X3, 055 08 H2LIR 1| 15,500 15,500
326| 8|t O| M| E EXICH Olft3| X|g, o|g& O& gr=0| 2y 1| 10,000/ 10,000
327| 8|t Ef2E7} OFL|OF MY X[, otEs 8 CHH| O ZI0| 1| 12,000/ 12,000
328| 8|LtOI@I0] HEFH A 1 AeZl X[E, ooj2] O& =2 1| 13,000/ 13,000
329| 8|LtBl Al FF xod M2 X, 240 18, oot ot2 2 0] 2l 0| 1| 15,000 15,000
330| 8|t =M 8 X Oj2feoto| | 1| 11,000 11,000
331| 8|Lj 12| FL|? AHEE 2E X3, 8IME &4 o= 1| 13,000 13,000
332 8|Lf B2 X EX} 28X X2, g a8 Z 20 Zl0] 1| 11,000/ 11,000
333| g|Ui TCH=E ZEHS7| M-S 440| X5, Ltelet O8 Hol=a 1| 10,000{ 10,000
334| 8| HHCH=Z AtEF &7 28 XS, 459 O8 FLO L EA 1| 12,000/ 12,000
335| 8|LH7t EE& ALO|0f 4zt X5, Lgst 28 SAAFELO 1| 10,000/ 10,000
336 8|LH7t Ot 7t M2 it 2 X8, Af2t 2EH[2 18, 0|9 g2 2 1| 13,000 13,000
337| 8|LHAl A2|E QIASH F etojzt X| 5, MEgE 8 0r30|& 1| 10,000/ 10,000
338| 8|LHE2 F+HE|X| AR K=, 2= 28 O|X| = 1| 13,000 13,000
339 8|4 A7| B %= QUL|? Ho|HE HEZHA XS, Ba| Bt 13, UK $2 235 1| 14,000] 14,000
340| 8|42 I OF staj O|F3| X|Z LR 1| 14,000] 14,000
341 8|HE EFH =2F 2 XZ, d8d 18 DS TA 1| 12,000 12,000
342| 8|E0f AX A X = SHE 1] 13,000 13,000
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343 glg = =M 8 XS Oj2felioto|M= | 1| 11,000 11,000
344| 8|&=2| B & o 2YUZ XS SHEA 11 11,000 11,000
345| 8|=0|H O M T X, XY 2 Z2M0{20] 1| 11,000{ 11,000
346| 8|ww= % 02 HEO| 21gs X2, 470 28 SHE EEHAL 1] 12,000] 12,000
347| 8|=0}0| otEEr X2 AtH| 1] 15,000 15,000
348| 8|50 | 23C Ij2| KIS, 8L Ol20/k 17, BOj2 $2 535 1| 13,000 13,000
349| g|HlL|Qt 23 7HA 1 sperety| ofo| XIS, BT Rt 18, HEE $7 ZEAZ 11 12,000 12,000
350| 8|Ct2tet 2| A 2l 0|23 K&, ¢t& O S QFLEF 11 11,500 11,500
351 8|CHA| 2k MEO} UAFE X2 NEEF) 11 12,000 12,000
352| 8|Ttojo| of & MAY X[, 207 O3 CEES 11 12,000 12,000
353| B|LtEHES LIZtELCH M2 X[E, 5|HO| O8 RS 1| 12,000 12,000
354| 8|EHIO|Y HE delg| X|g, dojg 18 H| & A 11 11,000 11,000
355| 8|l ~RE SO{EELICH O|X|& X|g, = 2X| O& HEA 11 12,000 12,000
356| 8|CHe2| &I+ X2y X|g, 222 8 £2 1| 12,000 12,000
357| 8|CHSHSA HO| M ¥ =2t O] 7 I8 X, 2o O8 = 1| 12,000 12,000
358| 8|C] AR IHE| 2 §l27t? A IES XS, HYal YA 17, AEM 22 = 0IA 2 1| 13,000 13,000
359| 8|=7H20] Oflf Al X F XE, s 18 AHAHE 1| 10,000{ 10,000
360| 8|&3|9 = 25t X5, L2 28 =3ts | 11 11,500 11,500
361 8|EfX|Q 2 EATHE X, A2 glojAa 17, HFY g2 EER 1( 12,000 12,000
362| 8|5 Of2| T i) AC| HH| X|&, O|5% &4 MK ol 1| 13,000 13,000
363| 8|m=o| 7§ H#EZ0[Lf 74F0| BrE{QIS K&LICH  [32|AEot Lot x|, ofojA| ElHY 02l sae g2 [LFR 0| 1| 13,000 13,000
364| 8|ELCH HIFHE MM 2olg Xg, 58 18 | 1| 10,000 10,000
365 8|LE oStLte| & gt X2, #Ee 28 =32 1| 12,000 12,000
366| 8|EL2? 0|52 X|& AHAHE 1] 15,000{ 15,000
367| 8|Sm &fLICH H23| X|Z, =35 18 e E 11 11,500 11,500
368| 8|SHO| =& 1-2 Z=0 XS 45 08 +aES 2| 12,500| 25,000
369| 8|EtAE ThA ZHE L7 =28 X5, 488 &4 At 1| 13,000 13,000
370 8|3 AEl AME7| S+ X & ZEMT 1| 11,000 11,000
371 8|3l O|N|2te 23t A0l 68, 27| 18, Y48 gPMEz a gx | 28}=0|C| 0 11 6,500 6,500
FAREE 25t XS, 250 I8 | 1| 10,800 10,800
373| 8|2|g A OFAH Bt4z AXE XS, &K I8 EES 1| 12,000] 12,000
374| 8|0t f|L, CFA| Lt 27| Z 103 Hejel E0A 2 USE 22 H| & A 1| 13,000] 13,000
375| 8|0t f|L2f *F E7| wpje| E0jA XS 37| E 12, =28 g2 [HEA 1| 13,000] 13,000
376| 8|OHE 7tEE &otet QY X2, APE I8 He 1| 12,000{ 12,000
377| 8|0trRet =43t &5 gdd Xg, swe 18 gr20| 2y 1| 12,000 12,000
378| 8|0+ A A2 X, 0|2~ 08 MNEZ(ZF) 1| 13,000 13,000
379| 8|0r20| o x|= Q2| FQ, e} M= L3S (oMW Y, e OE OfZIo|L2 A2t | 1] 12,800| 12,800
380| 8|U= Fo| 3F ol Z=0| O|Aagt X5, 2oE 08 =4 1| 12,000 12,000
381| 8|HTI ZEHZ 10 Ao 4 Xg oted 8 o= 20{ 20| 1| 15,000 15,000
382| 8|MIE7| 222 stol X2, 7|2 28 AbSE 1| 12,000] 12,000
383| 8|2 &50|E =H g XS, o2 a8 Hol=s 1] 11,000] 11,000
384 8|EAH XYUE O|X& XS, ZX|9 & AHAE 1] 12,000] 12,000
385 g|l=4lo| Lizgt F4lof Lzt 27|12 XS A&7 18, ¥IxASA DN 29 A+ |[FEZFLY 1| 10,000/ 10,000
386| 8|20 E2|H ol XS, THAMHEH O3 =2 &4 |[CHuwSAFLO | 1] 13,000{ 13,000
387| 8|®2tl E2{0F &hi? HEY XS = 1| 16,000/ 16,000
388| 8|FAI? HX|! Sl 72 X|& SHE 1| 15,000 15,000
389| 8|0|L4Lf O IOl 2 ZA © w2 X8, 0jA0] 2x0| 9 2 |28}4=0|C|0f 1| 6,500 6,500
390 g|Oj=ELtal Or%f 3 Xl 2|lE 28 EBH XS, #2494 |HELD 1| 14,000 14,000
391| g|Of2f AL L2y 4HY X5, s I8 AH7 = 1| 10,000 10,000
392| g|0jM! MEEZ Tk &I X| 2, HigtLt O L2 20| 1| 12,000] 12,000
393| g|OjX|o| mat 2 XH20| X2, AFE O3 O EapErA 1| 11,000/ 11,000
394| 8|HIEEZ TR A0 XZ S35 1| 14,000/ 14,000
395| B|EtEE OfHI{A OlX|8] X2, 4o I8 S35 1| 12,000/ 12,000
396| 8|HfO 2| XtTHAH O 20| HEEA X|Z, 212 g4 f(Of ) 1| 20,000 20,000
397| g|HiF MMt S ool EEH XS dHE 1| 14,000] 14,000
398| 8|H|L|AO] &0l EfM X2, M DR, 22| HoATof YRt 235t=0|C| 11 6,500 6,500
399| 8|EMZFE gX|EHA A Htsg K&, Lds 4 S 1| 15,000 15,000
400| 8|& A1 FAfE|0) XIS, 0|gs] g2, 02w 2 n=x 13 [EELFL|0 1 9,500 9,500
401| 8|8 ME0| et L33 07|13 X3, 449 4 HM74olHrE 1| 13,000/ 13,000
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402| 8| 17| CHEH OtM 7}O|ME X|Z, Z0/2 &4 = 1| 13,000 13,000
403 8|=0H 2 BY| i3 g8 X, ol A8 2 EMHE 11 12,000 12,000
404| 8laa BAE 22 A2SE2 At MEH XS STFL O 1| 13,000 13,000
405| 8|EHP|EOLA 4-6 FEAHARLR XS stE8 3| 12,000{ 36,000
406 8|=2HE 2 AEH XS, OO} ¢ 224 ®M3%E | 1| 13,000{ 13,000
407| g|H| st +EE 24Xt K&, o|EE 08 AXF0{ZIO| 1| 12,000 12,000
408| 8|HIZ MS or= oo HIE o o ¢ oo 2 Rotwy [ REST| X2 SFE AL 11 16,000 16,000
409| 8H|EZ SO FE= E7)| Fe¢ X2, 0 O8, 293 F4 |AJ|LER 11 15,000 15,000
410| 8|8l Z& BEECol H|Y +=H MX|2 X, 780 8 7|Ct2| 11 11,000 11,000
a11| g[EIZE 2K X kbl 1[ 15,000] 15,000
412| g|YLt= D &K} g0l X| g, 0| =3 28 ASZF L0 11 11,000 11,000
413| g|Hr7Zt OO, & s X| &, 0|22 18 5= 1| 12,000 12,000
414| g|HrZto| Oflf A ALE A2, LAIR2 AR 08, Mt g2 Lol o X 1| 13,000 13,000
415 8|S HEO|2{A o= X| g, dZ0t 18 M3 x4 1| 12,000 12,000
416 gl #d2 LIFE2| ¥ O E 2tRE X2, MEAM F =4 1| 14,000 14,000
417| 8|ArtQt LiH| o|dzt ozl | X|& Hal 1| 10,000 10,000
418 8IAIEIE =EZH0] Z|0| & X|Z, O|RX|L| 8 O|X| & 1| 13,000 13,000
419 8|At2tEl 79| H| Y O|&3| X|Z, O|EHz} 18 H| & A 1| 10,000 10,000
420 8|AtEHO| f& 7|7t Bz X g, £X5 38 = 0lA 2 11 13,000 13,000
421| g|AMEC| gt ERA X|2, $H&0| 07, =2 o ofojxA A% | 28}4=0|C|0f 1 6,500 6,500
422| 8|ALO| H & Ol 29 X, g0 28 AXF0{ZI0| 1| 12,000 12,000
423 8|ALELE &L 7t ¥y X|g, 0|0 O 535 11 12,000 12,000
424| g|MZAZ Xr= FALICH slotat ol Eatat |, A 2ets 28, oM 2 |EEfHF|CIE) 1| 15,000 15,000
425| 8|MF| Ctef 471" X|g, 24 O8 =i 1] 11,000{ 11,000
426| g|AMotet EHY & AAHY X5, Ao| 18 QAH7| = 1| 10,000 10,000
427| 8|M O|=X| X|Z H| & A 1| 18,000 18,000
428| 8|add2 DYO|LCt ™ozt X| & | 1| 14,000 14,000
429| 8|M|AtO] BE AOIM CHH|E 22| x|, Ofajof 12 1, MY 82 |E2ob= Y| 1| 16,500 16,500
430 8|Hl = StLt= 2Lt 2ed Xz, Loy 18 fIzHSRA 1| 12,000 12,000
431| g|A2te ERE OAH Zotgt X5, =+ I8 AHT| = 1] 10,000] 10,000
432 8|A@lS =0 EELICH EHALA o|¢ot X5, 2508 O& H2a| 1| 13,000 13,000
433| 8|A@ZS SO0IFE Ozl 1-4 O|LIE X5, =¥ & AE 4| 12,000 48,000
434| 8| M, BT} E|C} 208 XS, da2 I8 N 1| 12,000 12,000
435| 8| & ZOIHX| chd= J8, ojdu = Hal 1| 15,000 15,000
436| 8|ad FTHEA g2 X2 HEA 1| 13,000 13,000
437| 8lEmd HES ™ FIEY 2 HaMd X|g, AMalx) 28 J20|EBOOKS| 1| 13,000| 13,000
438| 8|=HI&EE! Z3|E A XIS, 0§ F20) 08, 20 82 HIS 0|52 A 1| 15,000 15,000
439 8|29 @1 OHeY Of22 08, 7t2W X7t 2, 288 22 (k20| 1] 15,500 15,500
440| 8|zl Chel= 22| X8, OLt ofma|Al Fhetet 17, e $2 AHHI 1| 14,0001 14,000
441 8| =4t 50|SH J|C|9t AF|2 XS, Of2|of7|otet O 2 1Y HH LS 1| 13,000 13,000
442| 8|z Lis] X2 | 1| 13,000 13,000
443| glAHED 2 74 20| X[, A5 4 Sl 1| 16,000 16,000
444| 8|AEHA O] Mg X|g MAg 4 =Sl 1| 16,000 16,000
445| 8|Amfo| Bt el Xg, 4ot Ex) 28 O|X| & 1| 13,000] 13,000
446| 8|29 &2 208 Xg, =08 28 Z2M0 20| 1| 10,000{ 10,000
447| 8|A|ZH2 EO|OF 2| RAHE XS, 28 ZF4 =2|0{ 2 1| 14,800 14,800
448| 8|AIZ2S0| 1¥O| A0 2 X g, 28 &4 ZFL|OJRHK 1| 14,000/ 14,000
449 g|rlH[ot & gt gl Xg, o+ J8 O|X|= 1| 13,000/ 13,000
450| 8|AIEM . BEDE Qs LHE HEIC? =08 XS, d=8 8 o2& 1| 12,000] 12,000
451| g|&l A JHA|QF O ALS B2 A0 0|3 X8, ACHY 0jE 18, ojaE 827 |YEEHSLRA 1] 13,000 13,000
452| g|M= 4 MO F2aM X Z, et a8 =8 1] 12,000 12,000
453| 8|OtECHR A= X M 2Lt 0| X2, 482 O =otsU| 1| 10,000{ 10,000
454| 8|OtO|Z ZOIX| QAEZZIOHFA ME AMA |O|MF XS, HOlst OE =ots U 1| 12,000] 12,000
455| g|OftHE, OjC| U0 R? Hiof H2Of2 K| Hl2d 220t 17 WHA g2 |HH 1| 13,000 13,000
456| 8|OtH|Lte} ofgflA M XS, 2|3 I8 =St F K| A 1| 13,000/ 13,000
457| 8|0tz & SICH ACte X5, 838 J8 MAE== 1| 10,000/ 10,000
458| 8|Qt & & AtLCt a2 Xg 324 O3 ZI™E 1| 12,000/ 12,000
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459| 8|otd, EEHIOIOF FMH Z2HE XS, wojo| 28t 18, Axle g2 |THE 1( 14,000 14,000
460| 8 OH%XUP o= A& Ha8d X2, 478 18 AESY 11 15,000 15,000
461| 8|O§L|ZH 24 K& A% 28 Ha 1| 12,000 12,000
462| 8|OFAD[ILIQL ZIX} H= MBS =H 2 0L 2 X[, 0|38 &4 g2 024 11 14,500 14,500
463| 8|¥alS TOIY MN2F X, &5 18 S =H 1| 12,000 12,000
464 8|0 E2 CHY L A7A XS, O] oAlotel 22t 13, AN $2 == 1] 13,000 13,000
465| 8|{AE LIZHHAM OlAER|E FEDA XIS, Of2|E E2anAE 17, Yot 82 | AHH| 11 13,000 13,000
466| 8|O{F{Ct of Zf2HA| =27 A&, 0| g4 18 o= 1| 12,000 12,000
467 8|ACHHY 2Z&£ GlO[H|E O =M= B{E| Z20|X K|S, 0]2% £ = H 1( 12,000 12,000
468| g|dOf =2 &8 XS STFL O 1| 13,000 13,000
469| g|A0F A, O[22 7} 3= O|OF7| 2=50| X A2f 715 0f 1| 15,000] 15,000
470| 8|OF= O|oj7H A0 XS, 0|7 12 HEOEA 11 12,000 12,000
471 g|¥0ot= AL} =0+t Ob7tEr EMAT} XIS, oLt BO|UEAT 18, ojx|Y 82 |AFAE 1] 13,500 13,500
472| 8|0 A=Al =34 X, 8XE J8 020l 1| 12,000 12,000
473 g|d0Ote| AHE &2 X2 O|OF7| & 1| 14,000 14,000
474| 8|0flo|oto| LL| H@lBh L Xl 20|y X| g, o|F0| J& DS EEN B 11 13,000 13,000
475 8|07} stmof 2H0| 2! 2% ZHAH XIS, O|MT $Z, M2 R2Cio 1 |H|EA 1 8,000 8,000
476| 8|0|EH S2f OHYH HE2 LIERAF T E X8, 2|Clof 22| 18, 2K §2 AAE 1| 17,000 17,000
477| 8|0l & A0|AM O 7| Z0|of X|Z, o|0jF & H 22| 0F0| = 1| 12,000 12,000
478| 8| E AT FAE|0] X| S, 0| Y3 g2, 0|24 2 1= 13 $§§%‘-L|O-| 1] 11,000 11,000
479 8|0J£0| 2C} O|=X| X|Z H| & 1| 27,000 27,000
480 8|CI0IQt HHE = S|t X[ S ﬁ%‘éﬂ 1| 18,000{ 18,000
481 8| =2|0f oFL|0f XS, H0|E 4 =202 1| 12,000 12,000
482| g|0jj88 0} SHTIA X th= X, MO] 18 ZOoHYE 1| 10,000 10,000
483 8|E=k Lx Al A X[, MY I ZEXSE 1| 11,000 11,000
484| 8|EL =& KtOtL dols g 48 18 = St 0FX| A 1| 11,000 11,000
485| 8|k StuE 210! =2 X, 250 08 | 1| 10,800 10,800
486| 8|R=FH ST HOof 0|28 X5, Al I8 e 1] 11,000{ 11,000
487| 8|RFE Fo| AHE| £7| ojM dil= X2, &2 18 HAYFL O 1| 13,000 13,000
488| 8| Bt HZH HO|Z 3|22 HS, Y4H S, KOl AL Azt 23}4=0|C|of 11 6,500 6,500
489| g|em 2t & sx7| 2 948, %tﬁi %a, tAE 22 9% | 23t0|C]0f 1| 6,500 6,500
490 8|tM : =X B T MNP XE 224 8 O|X| & 1| 12,500 12,500
491| 8|ef 2L|? 50| X|& AHAIE 1| 14,500 14,500
492| g|&=F0| EHo| Dralor ZmH XS ©F a8 ANE 2 |2 1| 13,800 13,800
493| 8|42 0 glojA T w83 X2 Hol=a 1| 14,000 14,000
494| 8|20 HE oe&d 20| X[Z, O|LIF & EI 1| 12,000] 12,000
495| 8|87[7t 2Rl &0l X8, 4]0 :LE' Z2HM0 o] 1| 10,000{ 10,000
496 8|FTEE OF30|2 =& OFFA TE L2 XZ, 258 &2 Hol=a 1| 12,000] 12,000
497| 8| YEE OFZ0|et HICH 8 1& T 2|3 XE &8 &4 MAE== 1| 12,000/ 12,000
498| 8|22 sS4l HE TAL OlfZl XIZ oLl 1| 13,000/ 13,000
499| 8|2l pEZS AJfSL|CH UolE X5, ZEfZE O & Z2HM0ojzlo| 1| 10,000/ 10,000
500| 8|<2| Otth= SIX|HO0| == ™At ZHZ 292 X|g, 020t 312 18, 2tojnt §2 ot2 A mE 1| 14,000 14,000
501| 8|<2] ot0] FM7| MEZ XS =E 1] 15,000] 15,000
502| 8 °E| o= ZEg X2 SHES 1| 14,500 14,500
503| 8|9 F2| StLtEl 5 StLfglo| FEt =40 X g, SGHA O8 gr20| 2y 1| 12,000] 12,000
504| g|2Zlo|C} 2ot 2uM otee| YAlE XS, AX|Y g2 |ZHO0{2I0| 1] 21,000] 21,000
505| 8|fICHBH ZHXH]| SUAL AR OAKYE g QEM 2 2y a7 | 25t==0|C|0f 1| 6,500 6,500
506| 8|2ICHBH |4t YEfA X|-Z, $H&0| I8, & CZIA 2 [238t0|C| 0] 1| 6,500 6,500
507 8|¥EBYY o Mz 1 =3d X g, BtE24 a8 oLl 1| 12,000/ 12,000
508| 8|fISHY O Mz 2 =3d X g, BtE24 a8 oLl 1| 12,000/ 12,000
509 g|HH HiF HIMER =& 2L Ftojgdol |8, Zage|a 2 1, o714 g2 [=HE 1] 12,0001 12,000
510/ g|/%lat /% 0|=0| X2 2rE]| 1] 13,500 13,500
511 8|0|EA HO O|ELt SO|dy=A7 2 08, o|XY g4 [=F 1| 16,000 16,000
512| 8|0[2f|e| OpX|at 24A|Zt | X2, d=Fe I8 EES 1| 12,000] 12,000
513| 8|OJAtEEt &, Z=A0f Z=CHECH 2| HAHAH X, 2lH3 F4 ShtA 11 12,000 12,000
514| 8|O[AtE2t &, O 72 THLICE izl HAWAH X5, s &4 2ot 1| 12,000 12,000
515| 8|0JAtERt &, 5718 E7|Ct dig|d HAAH XS, HAEs Z4 St 1| 12,000 12,000
516| 8|0| st w A MEY 11-13 s|2A|0f 0|2 x|, XEXF 22, AH3 22 ZHAZ 3| 12,000| 36,000
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517| 8|0|2f3t OFO|AFEl 71 XY X[ &, ojedd a8 L| 7| 3= L] Of 11 13,000 13,000
518| 8|YSSH TH|gh FH[gt Mex| x|, 479 18 g20| 2y 11 12,000 12,000
519| 8|AHEAHE A etofzt o X|&, = 8IX| 8 NZE! 1| 12,000 12,000
520 8|At72| O Al R HO|A TtLp A X &, HX & 18 JHRALES 11 11,500 11,500
521| 8|AtZRO|FA : S Hot3 AtEs E7) dH7t tEENE X|Z, 0|Zd &4  [CHA=g 1| 24,000 24,000
522 8|&f2 AR Ao X5, Xz 08 | 1| 14,000 14,000
523 8|™= 29| O|A|Lt 20|48 X &, 4 28 = 0lA 2 11 13,000 13,000
524| g|&=M X1 A-0 X5, o|get I8 CEES 11 12,000 12,000
525| 8|1& 7| I+ &F HFEA X, SXE 28 = ots | 11 10,000 10,000
526| 8|Z0}, ot A3t X5, otX|M O 8 CHumsAFL0f | 1] 11,500 11,500
527| 8|F7| M2 WY ME AOr otEE = XS, SEHE F4 2|3t 11 13,500 13,500
528| B|X|F+ AHEH HIN 2ol XS, gtoiF O8 2 EMHE 1| 12,000 12,000
529| 8|ZIW} Lt= 0t OO &7t 2Ha2d Xg, M- O8 EENE 11 11,000 11,000
530 8|& 2l dll X[E, o|ME O gr20| 2y 1| 13,000 13,000
531 BT nFE AT HYM XS, 48X O ZHO 0| 1| 13,000 13,000
532| 8|Xt0f GEOFEH U= OFA M 18=Z XS, 40| 28 = 1| 12,000 12,000
533| 8|¥Z3 QRIEEQ| HY B ZEl XS, ol I8 of & & 1| 9,500 9,500
534| 8|MSHEE JH'F0| ALY 4 0|58 X|g, st2iA O3 PIZHERA 1] 12,500 12,500
535| 8|M& Qe & Aot & del2] X5, daet 28 =& 1| 10,000 10,000
536| 8|X ALY HIO|Z A /&0l X| &, 0|of= Q& I E 1| 12,000 12,000
537| 8|X|ZIEE HMEEME XS SIS 1| 14,000 14,000
538| 8|7tmHt2t7t ol =z AHEV|E X F, 25 F4 |0/C]0{EH| 1| 13,000 13,000
539 8|3 OfO| =208 X|& #1218 M4 olHr gt 1| 12,000 12,000
540| 8|EIY 28 5 DL QY XS, & AH 1, 2% 22 ZtEo{ 2lo] 1] 13,500 13,500
541| 8|EO| HZeh! O|FIst X5, AMls= 08 J2|0|EBOOKS| 1| 11,000{ 11,000
542| 8|EF! HOLE 3tSA|7{E} e XS 43 18 Z 280 El0] 1| 11,000 11,000
543| B|E[HSIRA  BR 7IE 2 AL L sjde] AR XS, mut #4128, 500l g4 |2 FFLO] 1| 12,000 12,000
544 glEHA 2 HOZ It & Atet HUTHA x|, = St 12, AN3 $2 arte(OF2H|) 1| 16,000| 16,000
545| 8|Z7tA g0l 2to| X|g, =28 4 H| &4 1| 14,000 14,000
546| 8|3 Ci2|7t Y& 742l 70| 0|7t 2kX| X| &, Ltels HEE 4 [LEZ 1| 12,000 12,000
547| 8|m|EHQt O|EHAEE EHRO|OF J2fo|e o2 X[, AHAH & 2280 1| 16,000 16,000
548| 8|ot= =4 Olz= X2 Z50{2lo 1| 16,000 16,000
549| 8|StCiet HHH =714 Act: X5, 238 O3 Hol=a 1| 10,000{ 10,000
550 8|5IE 10& =02 SM7 e NEEEIRE 45 1| 12,800 12,800
551| 8|5t0[Z& O E @=2E X3 O&=9E 4 HEFD 1| 16,000 16,000
552| 8|&tu 7t HoF 2ME CHY ZHE XS, 0|7 §2, = guut 17 |H|EA 11 8,500 8,500
553| 8|stw 7t EOIXO R =8 X2 il 1| 13,000 13,000
554| 8|32 gle =H7| g SiE X &, 8g 28 AXF0{ZIO| 1| 12,000 12,000
555| 8|2f7|E TtEE= 2ol FHEl A3H XS, 2017 O & LY 1] 10,000] 10,000
556| 8|= 20| M UHO|SCt a8l X2 L2/t 1| 15,000 15,000
557| 8|Z 20|} AFCH Yl oA X2, Of2| ZHAEL 84 13, 2st g7 | AHE] 1( 13,000 13,000
558| 8|=&0[o| Egl= 0[O0k O|A# X, MHE & SEMFLY 1| 14,000 14,000
559| 8|S EZS =cltl HESFeL T U™ X5, 24dF O8 =32 1| 12,000/ 12,000
560| 8|=3HEOl 9 Seldo 118, s 13, WuE 2 SSHHL 22 OlzjlotolM= | 1| 13,500 13,500
561 9|10CHZ IBH Atm YA ME 0|z ASE X, aLl HOZAHEL 12, 20tY 82 0| 2{ A OO M| = 11 12,000 12,000
562| 9(1920 utA A FE Q| XS =2t0|H 1| 12,000 12,000
563| 9|1L{|0|X| H3t 365 XE XS S| Al 1| 17,500 17,500
564| 9|Go Go 7h7temal= 1~10 H7IoIst ME - M0 |A0|Y XS, A™sE 28 O 25 10| 9,900] 99,000
565| 9|Go Go FIFremaA= 11~20 H7}OISt M E - M10H 20148 X5, 2983t 28 OI2= 10| 9,900 99,000
566| 9|Go Go 7H7tRIT#= 21~23 40|g X, 288 a2 OI2& 3| 12,000] 36,000
567| 9|ZX[Of =& OF SlfHICtHOF FLH XS 5L 1| 13,000/ 13,000
568| 9|#H7|% ZEA X Z, g2 I8 HEA 11 9,500 9,500
569| 9|H7|Z 2HMZ Xg, dMT a8 SF2joto|= 1| 12,000/ 12,000
570| 9|ACHH Moy X, 24F O8 HEA 11 9,500 9,500
571 9|LHA| 9=t AE2] HAt =529 X g, X 28 020l 1] 13,500 13,500
572| 9|L|Z2t HiEa M7Io E7HE =t SR s XS, dedF O8], IFEf = |H7HefHE 1| 12,000 12,000
573| 9|CtYot E3to| 2EH, S EHOMA|OF A X5, 5sd O8 MAE 1] 13,500 13,500
574| 9|9 otORC| M|AHAL Ol S Xz, o|Ltef O& d8d A= M4 olHrE 1| 12,000 12,000
575| 9|2 H|O|H ZIZH 9| Ho|E oFst O |oiel 2l XIg, $IEY 7t=4 38, X9l g2 |[B3& 1| 20,000 20,000
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576 9|Hf2tA] F24 X, ol&3 08 HIE A 11 9,500 9,500
577 9|HtEEIR ZH & N A 232t MAFEMGE X2, 288 18 7t (7t w =2 1| 14,000 14,000
578| 9|UFM FUAZT MAH F4t Ay X|g, 2eF 28 SHE 1| 14,000 14,000
579 9|MAUIAMO| NAAL RS 10-12 MolM ™S x| g, Y 12, efE A £HE0}0| 3| 12,000{ 36,000
580 9|MUIAMO| St AF CH2 S 15-20 MolM Aga|uta XS, WS 02, ZAL} 24e oro|g ™ 6| 12,000{ 72,000
581| 9|MAAF B A O|M3| X|Z, 278 8, 73t 45 |UAFLUY 1| 14,500 14,500
582| 9|AOIEECE MAZ HR= X2 = |0|5F X5, 20& 18 ISEES 11 13,000 13,000
583| 9|¢td, L= Z4E0|0f O|LIY X| 2 SoEHE0[H 11 12,000 12,000
584| 9|t L= AR ZOf O|LIY X| 2 H43E=0lH 11 12,000 12,000
585| 9|otd, L= F4H0|0OF O|LIY X| 2 SoEHE0[H 1| 14,000 14,000
586| 9|2t L= A{20|0f O|LIY X|Z A48 E0|H 1| 12,000 12,000
587 9|Qtd, L& MFOf O|LIY X|= A48 E0/H 1| 12,000 12,000
588| 9|OFFA| R EXI3A =Y o2l XIS, HE A0l Halo 18, 82 82 CEZ|E 1( 13,000 13,000
589 9|9 HO| =L =MZ F5t2} oto| g X[, =0/ 18 QL Of 1| 13,500 13,500
590 9|g7t2| OFE}O| it X8, 2380 28 H| &2 1| 9,500 9,500
591| 9|AOBIM HIZ MWHE OfZI0] THRAF F= 1 ot X2, 7| U= ey 2l 1| 12,000 12,000
592| 9|9o A HIZ WHE o210 ShaAL I =2 |otE K|S H7|H L ofeg 2l 1| 12,000 12,000
593 9|&7|34 [EZ XS, HEF 18 H| & A 1| 9,500 9,500
594| 9|M= L X[2| X+ XX X &, gojl& 18 AHAIE 1| 15,000 15,000
595 9|X| T Hto| Ets T} OlAPM Tl OH2EIA X, MEL2E sl2ws 2, Man | ZHOIRA 1] 21,0001 21,000
596| 9|&t2| 94 16 gl= o|0|X| X|&, #%Iof FA gr20| 2y 1| 12,000 12,000
597| 9|5t=0A EE0| HOIR0{R! Hz2l ®.o2 ® X|Z, 0l=8 F&4 S35 1| 15,000 15,000




20224 1Xt EM 78 =5(gHh
= |BF M= AL Ry 87t =
1| 0|E&0| ol &j&= =7t dHs 2 XS LtEo|0tS 1| 25000| 25,000
2| 0|x2& =oflEE 7|9+ A0te| H| Y 1EH Z[LIOEE = X2 21¢l 1| 17,800 17,800
3] 0|x2& =oflEE 7|9+ H0re| H| Y 2EH Z[LIOEE = X2 21¢l 1| 19,800 19,800
4| O|E= ¥102[F with IO HMFE XS AZl.com 1| 16,000| 16,000
51 1|Q0HE #ESHA St= AEL =Y ALA X2 420|Cjof28= | 1| 15000 15,000
6| 1|22 3tdfl (2|71H]) 2% Xa T 2|05 1| 16,000{ 16,000
7\ 1]0/0{E2o| OpX|aF =~ AKX X|Z, 0]0fH =R 1| 16,500 16,500
8| 1™ & 48 X2 FHEA 1| 17,000| 17,000
9| 3|OEM HEFY oot X| = Eemedare | 1| 16,000 16,000
10| 3|OEMoZ A|ESI= St 24 Y AT HENE XS EEn=daxg | 1| 17,0000 17,000
11| 3|OIEfHA 2 Ao XS SWMH|C|XFQI | 1| 18,000| 18,000
12| 3|AHE, A, B A4HG X2 =otutX| AL | 1| 16,000 16,000
13| 3|MZ K70 Ci7| Y Cti= 4 £% 0[07| 1|85+ X2 Met= 1| 15000| 15,000
14| 3|M= X71of CH7|® CtL = d % 0|0F7| 2|&3|+ X2 M= 1| 15000| 15,000
15| 3|M= Xt7tofl CH2|® CtL= 4 % 0|0F7| 3|&3|+ X2 M= 1| 15000| 15,000
16| 3|AYSZAO| WAt HI A XS Fe2|st 1| 18,000| 18,000
17| 4|22 365 EME XS SIS 1| 16,000| 16,000
18| 4|=17|= EXYSHX| UL 5 28 X5, EX| == 1| 17,000{ 17,000
19| 5|&0FE 0F FE5H= 00| el AgaziE, M QNI A 1| 17,500 17,500
20| 5|0F=9| k| 488 K= EZYAEEA | 1| 15000| 15000
21| 6|14 O|X| O|= 365 A= X2 S I Al 1| 18500| 18,500
22| 6|NAE F|= I{E| A0[A X| OLEEA 1| 15000| 15,000
23| 7|HAIZ| HA|Z] O|0{&H X|Z AL 1| 16,000| 16,000
24| 8|2022 M133| H2Z7ty = AHEH E0} 9 XS ==l 1 7,700 7,700
25| 8|M Ezf?l IjE| AO0|A X|E, 4 OF S A& 1| 15000| 15,000
26| 8|2EA 2 2140 oL Ct OttE EHIE X| gEAE 1| 13,000| 13,000
27| 8|EMHIE =SEICH He= £ FAz XS =2 MY 1| 13,500 13,500
28| 8|4 FL O|0{&E X|Z oS 1| 18,000| 18,000
29| 8loidY (F4) gO|HE FtH X|Z, 284 1| 13,500 13,500
30| 8|OtM QHC| 0 X| 2ofo|x|Zz2ot | 1| 16,500 16,500
31| 8|&= AL Zop=Ct Blo|H| S S3L|.0FEl H0|TE X| A BOLE 1| 25000| 25,000
32| 8|E2HPH HOIM (40Tt5 7|8 HE ofCld) |[H=A XS Lt& HO|X} 1| 14,000| 14,000
33| 8|M &2 0|§ 2 E 0l 718 i X3, 2 M & 1| 16,000{ 16,000
34| 8|Ot=H|O|A HC| ¥ X2, ool x|22ot | 1| 16,500 16,500
35| 8|0IM M2, FH& MEYLICH SHE XS S2f0|5t2A | 1| 15000| 15,000
36| 8|o|Zo| =4 dd= X3 =K AL | 9,000 9,000
37| 8|22| £2| 0|0F7| gMof X2, 7HE 1 H| & A 1| 11,000] 11,000
38| 8|zl 2F gO|HE FHH X[Z, ==l 1| 27,000{ 27,000
39| 8laREE M HOMH ATt AHL. A7z XS [CHH| 1| 16,000| 16,000
40| 8|O|E{2| OIIIEHE OrA| 2 O2t-E|L] X, O NEE 1 15,500| 15,500
41| 8|olde Mot 718 B XE & g2 M A 1| 15000| 15,000
42| 8|EMID Fotd A F F ZAo|Lt HES XS 23y 1| 15,000| 15,000
43| g|otElE 1 O|2IZEl X|F, 4 = StALSA 1| 14,500| 14,500
44| g|otEl= 2 O|RIZEl x|, 4 = SHAHAA 1| 14,500 14,500
45| 8|HAEQ| 8f R 23t oI5 X|&, 0|0t oI ZAH 1| 19,000| 19,000
46| B|ZEHME 3|02 QHC| &0 X2, d=54 & ofolx|=2[of | 1| 18500 18,500
47| 9|AHFE = MAA AT XS = Hi| 7} 1| 17,500 17,500
48| 9loto|5 9Bt 8l 2 & & 0128t 2 23lo)s H UTE XS HElLife 1 16,000 16,000




